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Standard Enthalpies of Formation Hof
1. Find the Hof  for the following reaction:  4NH3 (g) + 7O2 (g) ------------> 4NO2 (g) + 6H2O (l )
2. Find the Hof  for the following reaction:  2Al (s) + Fe2O3(s) ------------> Al2O3 (s) + 2Fe(s)
3. Find the Hof  for the following reaction:  2CH3OH(l ) + 3O2 (g) -------------> 2CO2 (g) +4H2O (l)
4. Find the Hof  for the following reaction:  2NH3 (g) + 3O2 (g) + 2CH4 (g) --------> 2HCN (g) + 6H2O(g)
5. Find the Hof  for the following reaction:  SiCl4 (l) + 2H2O(l) -----------> SiO2 (s) + 4HCl(aq)
